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In a certain code language,
‘SURMOUNT’ is coded as ‘13946352’.
How will ‘WORKOUTS’ be coded in

that language? |
Us fAREd §c W1 H ‘SURMOUNT

Bl 13946352’ for@T WTdT 8 | SHI AT
¥ ‘WORKOUTS’ BT &y forar Sieen?

(a) 56926320, (b) 67137
(c) 569263 (d) 6713743
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Select the letter-cluster from among
the given options that can replace
the questions mark (?) in the

follo D

G, TQJ, OHO, HYV, W G
\@%ﬁ%%mm
ffrg «» & WM W 3 9Phar 2 3R
?wwﬁmﬁww
|

YWE, WTG, TOJ, OHO, HYV, ?

laa-im'l“’ AB)WNG.

(d) ZMG

~ Sl



Select the option that is related to
the third term in the same way as the
second term is related to the first
term and the sixth term is related to
the fifth term.

99 : 171 ::121:7 :: 165 : 285

wﬁmmwaﬁa‘r%ﬂﬂ%wﬁ

99:171::121:? ;
(a) 192

(c) 241 @209_



Select the set in which the numbers
are related in the same way as are
the numbers in the following sets.
(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. E.g.13 -
Operations on 13 such as
adding/deleting/multiplying etc. to
13 can be performed. Breaking down
13 into 1 and 3 and then performing
mathematical operations on 1 and 3
is not allowed)

SH 9w BT T diong  fored
HE S avE ¥ Heftd @ RO ave
fRr=ferRad ag=aal & | 2|



femfora ey famm, qof e & wu 4
SUART § AT 912V | SEER & fore

&I 13 9T 13 TR G o &b
:19:13) Sire/aeH/en ST a1 13 B g
I ST FHhal & | G 13 Bl 1 3R 3 #

WWWWWW

& TR, T 2
“:gﬁig '

w4e) (16, 76, 52) (b) (44, 88, 55)
(c) (52, 117, 65) (d) (60, 105, 70)
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Asﬂ\""\i’n the Venn diagram given below, the

‘Circle’ represents ‘Officers’, the
‘Triangle’ represents ‘Married’, the
‘Rectangle’ represents ‘Salary above

Rs. 50,000 and the _‘Square’
represents ‘Post-Graduates’. The
numbers given in the diagram
represents number of persons of that
particular category. How many single
officers have salary above Rs. 50,000
but do NOT have a post-graduate

__degree?”

(a) 8 (b) 4
_sr10 @ (d) 2
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In a code,

R + S means ‘R is the father of S’,

R - S means ‘R is the sister of S’,

R x S means ‘R is brother of S’,

R + S means ‘R is the daughter of S’.

If J is nephew of K, which of the
. : . ol ..

following equations 1shvalld?

Th PIS #,

R+S & 31 § ‘R, S &7 fUar 2|

R-S 3T 3f § R, S P 989 2|

RxS P 31ef & ‘R, S T 915 2|

N\ Res@T IS E R S T D

- + % J

(b) P+ K—-M + L x

(c) P+ K-L+JxM

"L“‘v

(d)P+K-L+M X

gfe J, K &1 9dom/49eT 8
frafafed § ¥ 9 91 gHeRor AR
-



Select the number from among the
given options that can replace the
questions mark (?) in the following

serij
352, 381 412 449, 490, ?

ﬁﬁﬁf{@ﬁ ¥ 9 R () B

ﬁﬁ\ﬁ?ﬁr BT T D |

352, 381, 412, 449, 490, ?

/1-31’5'33 (b) 523

(c) S35 (d) S37

Paiwe o
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Select the option that depicts how
the given transparent sheet of paper
would appear if it is folded as the
dotted line.

Old BATST dI TP YRl e @i
ffeR a1 ) dier oar € o Yed
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‘Robust’ is related to ‘Weak’ in the

same way as ‘Gradual’ is related to
6 )

Robust’, ‘Weak’ ¥ S TNE Gar §
9 TRE ‘Gradual’ ¥ e

(b) Moderate
(c) Gentle (d) Slow




Select the figure from the options
that can replace the question mark
(?) and complete the given pattern.
(No rotation allowed)

SS9 ey &1 o9 P o & TS
Mpfd H U g (?) © WM W a
g 3R BT BT W R GHaT &



If WE = 118, PAD = 67, then how will
you code BACK?

Jfe WE = 118, PAD = 67, A BACK I




Select the correct water image of the
given figure.

a9 W e am@fa T & TE
SER & W e wARE B gEh

HT B8P

(b)




Select the letter-cluster from among
the given options that can replace
the question mark (?) in the following
series?

AR 242 2+Y Y4F, V9G, ? P430, MOV

9% @M AN R
Lf 12 43 ﬂoﬁ%(°)$wwmwéaﬂ?€r

S Q] X1 Il @ |
Y4F, VO ,'-"P43 M90 o,

+l +3 48 4t

520K ‘:‘ 0J
FEY 0 wfK 0



Select the option that is related to
the third term in the same way as the
second term is related to the first
term and the sixth term is related to
the fifth term.

24 : 84 :: 38 : 7 ::28:98

wﬁmﬂmaﬁa‘r%ﬁﬂ%qﬂﬁ




Select the correct mirror image of
the given figure when the mirror is

held at the right side.
i U7 Bl SIfe«T 3R &1 ST &, b

DI W IR ATRfA Y T T Arhfa
&1 |<Iep gUur yfafew 87
U3 3MTahid:




Read the given statements and
conclusions carefully. Assuming that
the information given in the
statements is true, even if it appears
to be at wvariance with commonly
known facts, decide which of the
given conclusions(s) logically follow
from the statements.

Statements:

A. All sapphires are pearls.

B. Some pearls are malachites.
C. All malachites are rubies.
Conclusions:
. Some sapphires are rubles.
w./Some malachites are pearls.
(ATl. Some pearls are rubles.
>(IV. All pearls are malachites.
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IR fspy 1, 11, 11
| YD ST HAAT DI

53
29
7
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cimﬁﬂw,amﬁrﬁl

(a) Only conclusions I, II and III frep:

follow

\/(-h‘)‘ﬁ?ﬁy conclusions II and III follow

(c) Only conclusions IV follow
(d) Only conclusions I and II follow

I. 99T TeTHioT, SITeTHioT 8 |
1. 9 Arprge, Al 2 |
1. ) A, STerEfor 2 |
IvV. 97 A, AATHISE 2 |




Select the number from among the
given options that can replace the

questton,m (?) in the following
serih &7

/‘“
18, 32, 59, 99 K1 218

frr=fofaa sf@en & w1 o (?) @
WM W 39 qTell G&AT BT TG BN |

18, 32, 59,99 ? , 218
(a) 150 (b) 128

‘),m/ (d) 112
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Serena startsfrom the court after her

tennis matchin-Petri-and drivg_g_ 2
km towards north and ten she turns
the right and drives 24 km. Then,
she turns to the left and drives 6 km,
after this she again turns to the left
and drives 30 km and reaches her

town. What is the _shortest distance

between her town and the tennis

court in Delhi and in which direction

is her town from the tennis court?

T, feeet # ooq < 9 @ 91
dIc ¥ Adadl 2 3R IR & AR 2
km $I8d Hl & 3R By 98 ¥ 3R
TSl 8 3R 24 km $189 &al 8 O,

ﬁﬂ@?ﬂ@ﬁ%aﬂ?ﬁkmw



(a) 6 m; North-west
(b) 6 m; South-west

AT 10 m; North-west

©

(d) 10 m; South-east



Some of the women are sisters, and
some are Tawyers., Which of the
following diagrams correctly reflects
the situation?

5o HAlRAN IRARSTY 7| IR HB
w%amaﬁmﬁlﬁ%ﬁqwmﬁ

F DI AT ING RIfd & 98 ado |
9T 87

QD
Qi

(b)



Which two signs and two numbers
should be interchanged to make the
following equation correct?
9+3+6-18%x2 =26

Ry ¢ FieRor 1 GE (@ferd) FA
xwrwra%ﬁqﬁwmﬁgﬁﬁﬁmﬁrﬁ%‘i
D> 3R < &Rl B AU ¥ ST DI
= AaIgHar &7
9’Ds+6-1sx22? "
\A4) +andx;2and -2 =
G_(?) +andx;3and 6 4 }47-—- 5 é'

“(c) xand—;3and6 ﬁ,

(d) xand—;2and6

(1 )



Read the given statements and
conclusions carefully. Assuming that
the information given in the
statements is true, even if it appears
to be at variance with commonly
known facts, decide which of the

given conclusions logically follow
from the statements.
Statements:

rnations.
ses.

i-ﬂl'mpﬂﬂwe rs.

Conclusions:

>(f All pansies are sunflowers. ‘/

1. All carnations are sunflower
\_IH. Some roses are carnationa/
LY. Some sunflowers are pansies.




)

(b) All the conclusions follow

(c) Only conclusions I, II and II follow
Only conclusions II, III and IV

follow

g IR frsp¥ 1, 1m, m
g | MBI 39 HAAT P

1. 9 9%, GROE! 3 |
I 4 TR, JROHE! & |
1. $B [eld, TR & |
IV. B GOl §7%d & |

(a) Only conclusions I, III and IV
follow




~mwwww=y 1he sequence of folding a piece of
paper and the manner in which the

folded paper has been cut is shown in
the following figures. How would this

paper look when unfolded?
Uh BT DI Arel 3N Hrer oam &

W%ﬁﬁ@@ﬂ%l@ﬁmﬁ
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Select the option that represents the

letters that, when placed from left to
right in the following blanks, will

complete the letter series.

99 fddeq &1 T & O 99 JER Bl

Duﬁrﬁmam%,ﬁl%ﬁwﬁmm

WHE A U ¥ TC T W IAER H&ell
X Bl |

FIR ¢DF) SEOF\ T€DFIVED

{a) EISIEUD (b} EGSJEUE

(c) EHSIEUD (d) EISIEUE




Select the option that is related to
the third term in the same way as the
second term is related to the first
term and the sixth term is related to
the fifth term.

232 : 152 :: 4395 : ? :: 319 : 209

99 faddbcd &1 T¥9 BN Off AR U 9
SUl ORE Gatd ' o9 R TN Ug
Usdl U 9§ 3R ®3r U< URd UE 9§

e g | PN
7225 . 1.72’ 435 : ? :: 325" :

(a) 2 (b) 192 c‘
Mfgs (d) 425



Select the figure form among the

given options that can replace the
question mark (?) in the following
Er series.
S IMMBMA BT T4 HX Sl - & T3
<l > g@ell ¥ ued ffreq (7)) & W R oan

TPl 2 |
(b)

(c)




Four word-pairs have been given, out
of which three are alike in some
manner and one is different. Select
the one that is diff

IR ve—g™ ey MU 3, o |
Nﬁﬁﬂﬁmﬁwﬁﬁ%‘aﬂ?w

FETd B SU AGTd IYG—JH $T II

PN |
(a) Loudspeaker : Amplify

(b) Knife : Cut
c) Tele :

(d) Microscope : magnify




‘Modest’ is related to ‘Arrogant’ in
the same way as ‘Diffident’ is related
to

‘Modest’ ‘Arrogant’ ¥ S TRE e
g {9 @E ‘Diffident’ ¥ e

gl

(a) Humble \Mdent

(c@i‘? (d) Suspicious
nwi T




Select the correct water image of the

given figure.
P Rbey Py 9 & T P

P el 9o ufafde o1 fAefig axdl & 7




Select the correct mirror image of
the given figure when the mirror is
held at the right side. Problem figure:

SI9 YU DI T g ATPHIA B &% AR @I
WY, o DF—4 SR SMThfd < T3 U
a@ﬁzﬁrwﬂﬁaﬁwnﬁr&aﬁ‘lﬁ?




